Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates Name of Political Party, if any: NEIDP

Name of the Candidate: Askang Kasar Constituency from which contested: Naturgyas A/C

Date of Declaration of Result: 28/05/2019
Name and address of Election Agent: L.E. Solony

G/T-185946+ 5689.60=191635.60

01.

Annexure-E

Total expenditure incurred / authorized:

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

	2			4	5	6	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks, if any
Nature of expenditure			ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	candidate or his			
Description	Qty.	Rate per unit		4					
Petrol	38.40	69	2649.60	Indian	46	2649.60			
Diesel	24.14	62.14	1500			1500			
Diesel	16.05	62.30	1000	NRL Gurgy Station	48	1000			
Rubber	2	150	300	ktrish stationery	49	300			
A4 paper	1	240	240	Krish	50	240			
	Description Petrof Diesel Diesel Rubber	Description Qty. Petrof Diesel 24.14 Diesel 1605 Rubber 2	Nature of expenditure Description Qty. Rate per unit Petrof 38.40 69 Diesel 24.14 62.14 Diesel 1605 62.30 Rubber 2 150	Nature of expenditure ReceiptTotal Amount in Rupees (paid + outstanding) Description Qty. Rate per unit 28.40 69 2649.60 Diesel 24.14 62.14 1500 Diesel 1605 62.30 1000 Rubber 2 150 350	Nature of expenditure ReceiptTotal Amount in Rupees (paid address of payee) Description Qty. Rate per unit 28.40 69 2649.60 Indian oil Diesel 24.14 62.14 1500 Phulchend Trillokchan Diesel 1605 62.30 1000 Carriery Station Rubber 2 150 350 Krish Stationery	Nature of expenditure ReceiptTotal Amount in Rupees (paid address of payee outstanding) Description Qty. Rate per unit Petrof 38.40 69 2649.60 Indian oil Diesel 24.14 62.14 1500 Phulchom Trilokchan 47 Diesel 1605 62.30 1000 Phulchom 47 Rubber 2 150 300 ktrish 48 Rubber 2 150 300 Krish 49	Nature of expenditure ReceiptTotal Amount in Rupees (paid outstanding) Description Oty. Rate per unit Description Oty. Rate per unit Description Oty. Rate per unit Diesel 1605 62.30 1000 Rubber Amount incurred/authorized by candidate or his election agent No. and date Pholipher 462.14 1500 Pholipher 47 1500 Pholipher 48 1000 Rubber ANRL Spartnery 49 300	Nature of expenditure ReceiptTotal Amount in Rupees (paid outstanding) Description Qty. Rate per unit Petrof 38.40 69 2649.60 oil Diesel 24.14 62.14 1500 Phulchen Tailokkhan 47 1500 Diesel 1605 62.30 1000 Rupees failors ReceiptTotal Amount incurred/authorized by candidate or his election agent outstanding authorized by political party and name of political party Petrof Diesel 24.14 62.14 1500 Phulchen 41 2649.60 Diesel 1605 62.30 1000 Ruper failokkhan 47 1500 Rubber 2 150 300 Kright partonery 48 1000 Rubber 2 150 300 Kright partonery 49 300	Nature of expenditure ReceiptTotal Amount in Rupees (paid address) Description Oty. Rate per unit Description Oty. Petrof 24.14 Diesel 1605 62.30 1000 Rubbur 2 150 Rubbur 2 150 Rubbur 2 150 300 Rubbur ReceiptTotal Amount in Rupees (paid address) Name and Address of payee address of payee address of payee address of payee and date addr

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidate

Name of the Candidate: Askang kaear
Constituency from which contested: Phunggas AC
Date of Declaration of Result: 29/05/2019

Name of Political Party, if any: NEI DP

Name and address of Election Agent: L. C. Soforg

Total expenditure incurred / authorized: 16904/20

6/7- 191635.60+ 11215= 202850.60

01

Annexure-F

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature of expenditure			ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks if any
	Description	Qty.	Rate per unit							
01/04/19	K.S. Cot	1	300	300	Vihaan Hardware SElectrical	51	300			
1/04/19	Walkei Talkei 777	4	2125	8500	Poona Internation	52	8500			
01/04/19	frialing Expenses	-	-	2415	M/3 Amor offset printers	53	2415			
							11215			

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificat to be furnished after the date of declaration of result).

Askang Kasar Signature of the candidate

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Ashang hards
Constituency from which contested: Phunggar A/C
Date of Declaration of Result: 25/55/2019

Name and address of Election Agent: L.C. Lotory

Name of Political Party, if any: NEIDP

G/T- 2028 50.60 + 13910 = 2167 60.60

015

Annexure-E1

Total expenditure incurred / authorized:

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature of expenditure			+	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
02/04/19	Diesel	57.14	62.30	3560	M/3 Yum- namoul services	54	3560			
2/04/19	Aupaper	2	270	540	Kongleipsk P. E	55	540			
2/4/19	Polylen 500	1	2500	2500	Spencha cement	56	2 500			
2/4/19	Food items	-	-	2310	Mikesh store	5F	2310			
2/4/19	Vehicle hiting	1	4	5000	Ranydou	58	5000			

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).

Askang Kasar Signature of the candidate

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidat Name of Political Party, if any: NEIDP

Name of the Candidate: Ashang hazar
Constituency from which contested: Ohung yar AC
Date of Declaration of Result: 25/55/2019
Name and address of Election Agent: L. C. Sofong
Total expenditure incurred (authorized for the contest)

Total expenditure incurred / authorized: 17,910/

(From the date of nomination to the date of declaration of result of election, both

G/T-21	6760.60+4000	= 224760.60
6/7-21	6700.004 2000	

G/T-216760.60+4000=2011	(
oth dates inclusive)	

. 1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature o		diture	ReceiptTotal Amount in Rupees (paid + outstanding)	of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	name of political	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remai if an
	Description	Qty.	Rate per unit							
02/04/19	Lunch	10	200	2000	Ronget Rice Hotel	59	2000			
02/04/19	Diesel	32.20	62.11	2000	sprice station	60	2000			
			/		/		4000			
		/								

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certific to be furnished after the date of declaration of result). Askay Koes at Signature of the candidate

Annexure-

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidate Name of Political Party, if any: NEIDP

Name of the Candidate: Ashang Kasar Constituency from which contested: Phungyar

Date of Declaration of Result: 23/05/19
Name and address of Election Agent: L.S. Solony

Total expenditure incurred / authorized: 690 3/2

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

9/T - 224760.60 + 6903 = 231663.60

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature of expenditure			ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remark: if any
	Description	Qty.	Rate per unit							
3/4/19	Fish	20.13	180	3623	Bulbul	61	3623			
3/4/19	Autoports	-	-	540	Porja Autombily	62	540			
3/4/19	Autoparts	-	-	1200	_do-	63	1200			
3/4/19	suto ports	-	-	540	-do-	64	540			
3/4/19	Auto parts Accessories	_	_	1000	garat pattery Autoridale	6.5	1000			

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificat to be furnished after the date of declaration of result).

Askay Kasar Signature of the candidate

01

Annexure-I

Annexure-E

(Part A)

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidate: Name of Political Party, if any: NEIDP

Name of the Candidate: Ashong kasar
Constituency from which contested: Phungyar AC
Date of Declaration of Result: 23/05/19

Name and address of Election Agent: L. S. Solony

G/T-231663.60+7937.02 = 239600.62

01

Total expenditure incurred / authorized:

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature of expenditure			ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	Remarks if any
	Description	Qty.	Rate per unit							
4/4/19	Petrol	23	70.74	1627.02	Bakliwal enterprises		1627.02	_	_	
4/4/19	Mortel	1	65	65	MS Aryan Pharamacy	67	65		-	
	Motorparts	1	3650	3650	uinod Motors	68	3650		_	
4/4/19	Motorports	_	•	225	_do-	69	225		-	
	Food items	_	-	2370	M/3 Mukah	70	2370	_	~	

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certification of the People Act, 1951) to be furnished after the date of declaration of result).

Askang Kasar Signature of the candidate

Annexure-E

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidate Name of Political Party, if any: NEIDP

Name of the Candidate: Ashang kasar

Constituency from which contested: Phungyar
Date of Declaration of Result: 23/05/19

Name and address of Election Agent: S.L. Sdory

Total expenditure incurred / authorized: 10437-02/2

9/T-239600.62+ 3250 = 246100.62

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	Amount incurred/ authorized by other individual/ association/ body/any other (mention full Name and Address)	9
Date of expenditure/ event	Nature o	f expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party		Remarks if any
	Description	Qty.	Rate per unit							
4/4/19	cartridge	1	740	740	Dotcom	71	750			
4/4/19	vehicle wring	1	**************************************	2500	Nelson	72	2500			
			,							
							3250			

Certified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of result).